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DEPARTMENTAL EXAMINATIONS

LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
BOOK - KEEPING

(Without Books)

Maximum Time :1.30 hours | Maximum Marks : 60

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarer@ M euens ellarTggmer

Read the following instructions carefully before beginning to answer the questions.

eflanrasenss el weaflss Qarikigh wpery Spssa a@@mg&mm FEUEITLONS LIlg H&HELD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.

@ns feymssaier gerr Lmederfler mrrrrg,mg,ssaﬂeu Gra&EGasnu GCaameulig Cua
uredlamflen 6uUmTSHenss(EhLD <SiL1h(ELW.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is recelved you should open the booklet and then proceed to
‘answer the questions.

@ns Aamsdsr@ulmen sarsraiuurariiar ogwd CUnesHE WeTanT SD&ssmL TS
sansrasiuurent elemssr@lberar SplusnE iend é{ﬂﬂg’;g’;@qLGﬂT aﬂamrrg,(ag,rr@uélemm
Hmbg eflenwaflés QHm_hisamD.

1. This question booklet contains 60 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the questions booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained. '
@eaelamgsrer 60 Garargh eams amssmer Qarar gl efamariugniser el wefds -
QsTLmE wer, dlamgsraild ardor ellamasenn @b QuppETeTaTaur aamumsLD, FEHEID S
ussnser /| elamsser FALLULTLG AUl (Réaataeur eranuegwn slurTsgs Gamerereb.
eflenmmggrafle G)’@(&}S@JLB @®mn @mular eflamgsranar GQubnm Ger LSS gﬂuﬂ]uéja;@és@eh Sienm
sansreniiiurarfiLb Qsfelss Cauam@n. ign@ Ung Gsfelssiu@n Carflémssdr qgjw THM&
QamarerlLLom L mg).

2. Answers all questions. All questions carry equal marks.
Smasg damssepsEn olaiweallss Coam@Bb. masg elamas@pb sowrar wHUIGLETSET
QaranTL_amayl.
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3. Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.
eQamanriiugryiler uflQeuamenant Qeucianmggraflen G euawg LESSSD SisHblEear egissILL (HeTer
@ILgdle er(ps Couar(HLd. eflemrggrefie) Goum erepgsd eT(PBE Fal_TF).

4. The sheet before the last page of the questions booklet shall be used for any rough work.
Aarsgrafien send L&ESSHDE e LEssH® rough work erpdl uriés 2 LGWITHSg6 Qsrarara,b.

5. (a) Each question comprise of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as

, wrong and no mark will be given for that Question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark) ' p

(a) eeaQearm afeameingn (A), (B), (C) (D) e prang olaoLsda Gar@asiulHdeng.

- efleranriugTriT eubld gCsaib g sflwrear alamLamws Caire| e Ceuam@ib. qeamsE

Gupul L sflwren elenLser g elenmalilng @@BULSTS smlame, eunble ereucilerL e
sflureng) eren smEIHDTsGear, scuaienenw BlpalH s CeuammHib.

(b) ereueumrdlpliGenbd, e ellammalhg eCr e eflenLanwig gren Caibbls(H&s GCouam(Hib.

(© em Neamelne eamées Cooul el Lhsele el welldaiunmbsred el
SUDTETSTS &HSLILL(H, Steuailammadn, wHiGlLie euphis i om Lrg).

(d) OMR o&flewrs srefler Gilssuul L silurer eleLsamerts Qurmss, Qurss wHOQuaTsET
cupmsLIL@HD (e eSlearmeiing e @Jl_t_g,ﬁev (@@uﬂ]l_l_ Blpedl L eflenL i HCw wHiGluek

QUG saTESd T(HS55IE Qarareriu(LD).

6: Do not mark the answers in the Question Booklet.
allenrggrafler allenLsemens GHIUGLE gaL_mg).

7. Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.
eferamriugmy, elanrssrafien arhs @@ Lsss@sUD, BisCaur wwg HPfssCar sarg. Coiey
penL Qumib Gurgy, elammsgrener Gairey gL samsedll (B GeuefiCu sy QFwe igindl danLwirg.
Gairey (pighs WearGr elargsranar er(h5g)F AFawe g ndlésiu@eur.

8.  Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsar. Plejamrsaie gCsayn WBplu®Cwwrerme (Bg;rreurremmmm Gr@&;@ua sewr_ener /
LGy &ena&&E 2 eTemrs Gl (Hib.

9. In case of doubt, English version is the final.
Seanrésafler ebCaalmLer, o midle augeld arasuulHerer eflamesCGer @ midlwrerg).
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2.

3.

4.

The column of ledger which links the entry with journal is

(A) L.F Column wAB) J.F Column

(C)  Particulars column (D) None

GILGUL g gyiater uifleflanan @lenanTéss salyw CLGTL G LGS

(A)  Cu.u. erair LSS B) G.ue.usd

©C)  eeugriugd (D)  ergiayb @dena

Rs.6,00,000 Spent on research and development is

(A) Capital expenditure | (B) Revenue expenditure
AC) Deferred revenue expenditure (D) Revenue Income

5. 6,00,000 gppmiisdl wpmibd euatiédlésrs Cewmey Qsiisg)

(A) ysders Qsavay (B)  eaumeuruiens Qeavey

(C)  fer uwen eumeurulens Qeway D)  aumeuren aurey

Wages and Salaries appear on the

) Trading Alc (B) Profit and Loss A/c

(C) Balance sheet : (D) None

oGOl LD FIDLIGT(PLD ganr&dled @)L 1bGUmID

(A)  Awrurrs sensdao B) @QeruplLs sarsdd

©)  @ouy e @dloy D)  eagioyn Goee

Expenses on advertisement will be classified under

(A) Capital expenditure (B) Revenue expenditure

WC) Deferred revenue expenditure (D) None

aflamourgdnE tewe| QFUSSE Q@

A)  sdar Qswey (B) ameaumber Qsaay

(C)  Ber Lwar eumeuruien Qsaay D) ergoyb Gama

Prepaid rent is an example of

(A) Natural person (B) Normal person
WC) Representative persons (D) Artificial persons

(pein gty Clegusdlw eurL s erDSgIEsT L 16 efloTiiEes)

(A)  gaf puiser (B)  srgryent mursar
©)  Yrd fdsgeu puiseT (D) L wpen semwliyser
3 008/DD/19
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6. Purchase return book was carried forward as Rs.1,520 instead of Rs.5,120 it’s rectify

(A) Debit - Purchase A/c Rs.5,120 '
(B)  Credit - Purchase A/c Rs.5,120
(C) Debit - Purchase return A/c Rs.3,600

‘AD) Credit - Purchase return A/c Rs.3,600
Qararupga $lmuub eriiger Glorgsn r.5120, f.1520 o gn&8l erpsliul_(Hetar enwpaeanar
mss ' |
Q)  upm - AareTpse &/@ em, 5,120
(B)  aurey - Qarerupsed &/@ ap, 5,120
C) uom - Qa;rr@h@pgeb Smuub &/@ m, 3,600
D) earey - Qarerpse HHLum &/ @ em, 3,600

% Net profit must be added from

(A) Drawings a ' WB) Capital
(C)  Gross profit _ (D) Fixed assets
Blar @eoruid gl L CiuL Ceusrig Wig)
(A) .GI'®I;II_|BSGiT B) wse
(C) Qwrss @emud (D) fHevawsbargg
8. In : system, only personal and cash accounts are opened.
(A) Double entry MB) Single Entry
(C) Net worth (D) None
pemuiley, Y GTETT LHMILD QAuréss  sand@seT oL (HGw
urrfsstu@Hemmer.
A) @rieliudley B) anapl udley
(C)  Hlar wliy (D) ergeyd Gevaned
9 ) is an intangible Assets.
(A) Furniture (B) Machinery
(C) Computer 4)) Copy rights
R Leoarrs Clgrss). '
A) mpsaen B) @Qupdro
€) seflaf D) udoyfan

'008/DD/19 4



10.  Which one is not suitable?

(A) Cash in hand (B) Drawing
VO  Creditor ' (D) Debtor

Spsea_eunler QUTBESTSS 6T ?

A)  esligply Qrrésnd B) e®uy

(©) sLaiBCsmm D) s_amaflser

11.  Assets — Capitdl =

(A) Assets (B) Expenses
(C) Capital “D) Liabilities
Qerggisser — s =

A) Qerggssar B) Gsweyser
©) wso , (D) Qurmiyser

12. Cash received from Mr.Hari

(A) Personal A/c - Debit (B) Real A/c - Credit
C) Personal Alc - Credit (D) Nominal A/c - Credit
anfluilL BlmBg Qrrésn Qubhng A
(A)  yereri al@ - LD (B) Qsrag &/@ - aurey
(©C)  yereni &l - curey (D)  Quuryerey &/( -eurey

13.  Gross profit is equal to
qA) Sales - Cost of Goods sold (B) Sales + Cost of Goods Sold
©) ~ Sales - Net profit (D) Net Profit + Cost of Goods sold
GlLOTESLD @levrLib ereLig,
A)  Apueer - Npm sTEE 6T DIL_&HD (B) epuenar + elpm srédlen LS
(C)  &Slpuenar - Hl&r eumored (D) fParaumored + cHlHm srédlen L&D

14. A Sale to Kaveri Rs.6,900 has been entered in the purchases book

(A) Omissions (B) Compensatory

(C) Error of posting w)) Recording

Qsratpge a6 &rCafée ellhuamen Qswisg) ep. 6,900/-udwiiu_Herearg
(A)  ApGep B) FH Qe Genip

C)  souprar samsfld erHSOSWEID Genp (D)  ufley Qsiigd GNevyp

5 008/DD/19
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15.

16.

17,

18.

19.

Credit Purchase 1s obtained from

(A) Bills Receivable account (B) Total debtors account
W) Total creditors account (D) Bills Payable account
- sLarQaraTpse) Ml 2 56D STHE
(A) Quupespeiu wrHns &6 &/6 B) Guwrss sLammeflser s/
(C) Qurés sLatbCsri &/ (D) QegsgieusnE v wrong &6 &/E
Income and gain credit — it's a rules of
(A) Personal Alc WB) Nominal A/c
(C) RealAlc (D) None
Cleaeyser LLOHMILD BLL RIS LUHI eeudsiLbhieug) erhg efldluda
A)  yeren &G : . (B) Quwirerey &/
(©) G]Errggj &l D) @eundlé ergiayb @evena
Which one is not Revenue expenditure?
(A) Carriage expenses Rs.230 (B) Repairs of Rs.575 for furniture
(C) Salary paid to staff WD) Rs.250 loss on sale of furniture
Spsar_aupile) aumeuruiar Gaaey DRSS 6TEI? :
Q) 26T gn5E med p. 230 _ B)  <iempsaer LpgurTiy Qgaey . 575.
(C)  uenflurenpéE swuard Qar(H 55! (D) empseen ellhmled pLL LD 5. 250
If Land and building value is 1,00,000, Depreciation is 20% the new value of land
and buildingis= ? A :
(A) Rs.50,000 (B) Rs.60,000
(C) Rs.70,000 qD) Rs.80,000
Blow womb sl gdler wdiy ep. 1,00,000, Csiwrand 20% eafed Hleob wHmD
slgL gSler HCUTSe Sl
(A)  @5.50,000 B) @.60,000
(C) .70,000 (D) #5.80,000
Single Entry System is
(A) a Scientific method %B) an Incomplete Double Entry System
(C) a Complete Double entry system (D) none of the above
gh@pLLdla) (o @®

A)  elgpesrar siglumi@arer erp  (B)  @pepern Quprs @ri e U Liflay apenp
©) uewdupp @rieLliudle) wen D) Cohsar erge|b Gdama

008/DD/19. | 6



20.

21.

22.

23.

The excess of assets over liabilities is

(A) Drawings (B) Profit
(C) : Loss . , \AD) Capital
QurmliyseaereilL s (H s 2 arer Qarsgisaer

A)  er(uyser (B) @erubd
€) Bl | D) psd

The accounting concerned with recording all business transaction is

A)  Financial accounting . (B) Management accounting
(C) Cost accounting (D) Statistics

saméCahsafley euanila pLeuig Samasamer LD e

A) B4 Hlenew semradle (B) Cuereamreno sewrsdlwien
(C)  SILés cllone Samsd e (D) yerefluwed

Creditor 1s an example of

(A) Current Assets (B) Fixed assets
)  Current liabilities | (D) Long term liability
SLATBCHIT 2 STTETONS @) (5L
A) Loy Gstssy . B) Aeowstsrss)
(C)  pruyQurmiy D) BewrL sre Qurmiy

Petty Cash may be used to pay ji,
(A) - Salaries to staff
(B) Purchase of furniture and fittings

AC) Expenses relating to post and Telegram

(D) None

Flevavenm G rrassSlelEHg CFlwiumb CFwa]
A)  uemflwrerrsefien pardluib

(B) - iepsear (10) QUTHSSISET cuTEIEGSED
(€)  surd gpdl Greay

(D)  erzya)b Qe

7 008/DD/19
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24.  Outstanding rent A/c is an example for

(A) Nominal Alc (B) Personal Alc
\AC) Representative personal Alc ' (D) Real Alc

Qar@uL Cauaimg W cuT_ans &/@ aTRss1saT LTs aileThGeag)

A)  QuureTey &/ (B) yerent &/

(C) rdfdssieu syarant &/@ (D) GQersg &/@

25.  The object of book keeping is to
(A) Earn profit
(B) Reduce the expenses
WC) Keep a complete record of transactions
(D) Loan Sanction
samd@ udleilweilen Crrésh
A)  @eru Fl(hse
B) GCesadamsamer Gamnsse
(C) pupewwrs pLslgdbmasamer LIGGEaL g ugrwilsse
D) sLeanGQumse

26. A Statement of affairs resembles a )
(A) Trading Alc (B) Profit and Loss Alc

qC) Balance Sheet : (D) None
@ Hlane idsans Gumerm Carhmiaflé@Lb.
A)  wrury sl ' B) @QeruplL sl
©)  @Qouy fowsehiy ' D) ageb Ghema

'27. The Accounting eqliation is connected with

(A) Assets only (B) Liabilities only
(C)  Capital only _ | MD) All of the above
sansS L FLOGTUT(H THE)IL 6T FTTHSS)

A) CarsgseEner (B) Qummliys@EpLer

(C)  wsLen (D) @eau amm&,@m'

008/DD/19 8



28.

29.

30.

31.

The Land is purchased for Rs.500,000 and its market value is Rs.8,00,000 at the
time of preparing final accounts the land value is recorded only for
(A) Rs.3,00,000 WwAB) Rs.5,00,000
(C) Rs.8,00,000 (D) Rs.13,00,000
Bl eurmdlw eflane e, 500,000 whmid gen shHens ellewa ep, 8,00,000 crafledr Gmis
sané@sar srflagh Qurpg Rlagder wuurs sT_LLu@b Ggrams
(A) em, 3,00,000 (B) em, 5,00,000
(C)  em, 8.00,000 (D) ¢, 13,00,000
Electricity Charges and Dividend is an
(A) Personal Alc (B) Real Alc

VA©) Nominal Alc (D) None of these
WIeNTSL_L_ewTLD LMHMILD LIRISTSWILD GTETLIG)
A)  yarent &/@ ‘ B) Qersg &/@s
(C)  Quuryerey /@ D) Qeunde ergiayb @eemea

Liability which may or may not arise in future

(A) Long term liabilities (B) Current liabilities
C) Contingent Liabilities (D) None of these
erdliTau(mLd sraddle Hlapssenigl SD@F HlepT UTmULSET erarLg)
Q) Bewr_sre Qurmtiyser (B) mprugd Qurmiiyser
(C) FlapeuenLwrd Qurmliyser (D) @eunmla ergayb @eena
The need for preparing a Balance sheet is as

(A) To know the nature and value of assets of the business
(B) To ascertain the total liabilities of the business
(C) To know the position of owner's equity

\AD) All of the above

@muyBlenay @olliy Wereumb Caaneussatiey Hleurgsl Glawiw Gouamig.wg
A4)  aafss Qerggissaian Gwe wHmib wlienL b

(B) auamflssden Qursst Qurniiyseamer idlw

(C) efemwvwreriaafien ukisefliL Haaeanws iHlw

(D) @aeu simarggn

9 008/DD/19
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32.  Which one is not suitable?
(A) Natural persons
(C) Artificial persons
Epsenr_euhmled CQUTBHSTSSI?
A) saflpuiser ;
(C) slLgpenn embliLgEeT

33. The profit and Loss account shows

Representative Persons

(B)
\AD) Impersonal

(A) Financial position of the concern

QAB) Net profit or Net Loss
(C) Gross Profit or Gross Loss
(D) None of the above
Qeoru pLL sanéE CeuaflliL@sgieais)
A)  Hyeasglen Fgl Hleve
(B) fler @erub Sdeg Hler B b

(C) Cwrss @erub Soeg Clords BLL LD

(D) Cupser ergio|b @dame

B) drdlhldlssien puiser
D) yererrrHmey

34. In Bill of Exchange, Days of grace are in number
@ 2 2% B s
©C) 4 D) 6
LTHOIFE 1q6) FQINS HTETEHET G
@A) 2 B) 3
C) 4 (D) 6

35. Commission received is to be credited
(A) CashAlc
(C) Other expenses Alc
&1 CunDg eure| eneudss Ceuemrig Lig
(A) Qurés &l
C) @srQsawdier s/@s

008/DD/19

MB) - Commission Alc
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(D) Other income Alc

B) s16 86
D) @sr eupeiland &/



36.  Which one is personal account?

- (A) Land and building (B) salary paid
A  Capital (D) Incomes
EpsarTL_undleh 6TE S ETETT SeTEE;?
A)  Fleod wHmd &g b (B) sbuemb Qsr(héss
(C)  pse (D) eumwred

37.  Which one is not suitable?

(A) Fuel (B) Freight

“C) Salary _ (D) Wages
CurmhBsTans & iq ST (H& '
A)  erfl@ummer ' B) srs@ema
(C) sgwuerd (D)  gaad

38. The Assets, which cannot be seen or felt are

(A) Tangible assets (B) Fixed assets
(C) Current Assets AD) Intangible assets
seTamiéE g flurg wpmib Qer () o ey urg Qarss) GTEITLIg)
(A)  yoamgb Qersgser (B)  foe Qsrégiser
(C)  Frenw Qarsgser . D) yearsrs QFTS g sH6T

39.  Cost incurred should be matched with the revenues of the particular period is based on

)  Matching concept (B) Historical cost concept
(C)  Full disclosure concept (D) None
GHLALL samdsramg.en 2iLés el aumarCur® Uiy Crréseug,
(A)  Qurrsgins smEE) ' B)  urrzen sissellawe smig
©€) v Qaalur®sé smes D) ergayb @eena

40.  Closing Stock appear on the i
(A) Debit side of Trading Alc (B) -Debit side of Profit and Loss A/c
(C)  Credit side of Profit and Loss A/c ﬂ,D) Credit side of Trading A/c
Qmigl sr&slmiiy @ bQumib LGSD
A)  lwururys sensdeo upp LEsSHD  (B)  @eru bl senddd DM L&sLD

C) @QeoruplLs samsde aure] LsSD D)  ewrunys sensdd curey L&sSE e

11 ‘ 008/DD/19
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41.  Which one of the Error is not disclosed by Trial balance?

(A) Error of partial omission
(B) Double posting
(C) Errors of carrying forward

AD) Errors of complete omission
@muumie] beuefluBhissTs Wenip 6rg)
A)  ud Gy
B)  @mvop awssd
(C)  ansé erpsise Gevp
D)  ww NG Dempser

42.  Suspense A/c are recorded in

(A) Trading Alc ‘ (B) Profit & Loss Alc
\AC,) Balance Sheet (D) None

DBTOSE SawTéE LS WiLBIn @)L b

A)  efwrury s/@ B) QeruplL s/E

C) @muy Hame Gy (D) ergeyb @éeamea

43. Indian overseas bank is example of

(A) Natural person (B) Normal person

(C) Representative persons %D) _ Artificial persons
Qdlwen geurdav eunidl er(sgI&HTL_LTE eflaThiGeus)

(A)  safl puiser (B) ergryem purser

(C)  Grd Adssieud puiser D) slLyen si@wiyseT

44.  Rs.500/- not recovered from Mr.Surya a customer due to his insolvency is debited
(A) CashAle ' (B) Surya Alc
\4(}) Bad debts Alc (D) None
eumgdenswrart Slm.@Giwr AprybgiCuragred seufllflmbg Gup Wy wrs Qsreas @. 500
LD rpsuubeug
A) Qurés s/ B) Grwrs/s
(C)  aumprés_en &/ (D) ergia)bd @oene

008/DD/19 Gl 12



45. What is the correct order in which the Accounting transactions and events are

recorded in the Books?

1. Trial balance

2 Journal

3 Transactions

4, Ledger only one

(A 2-3-4-1 (B)

(C) 1-2-3-4 VD)

1-3-4-2
3-2-4-1

SETEAD BL_GUlg HESSET womd Blspeisamer LS uflens G GQer@ésluL [Hdrers)
sflwrer <idledlmbg @ ®mULTLGY auflensemwis sem (il SselLb. '

1. @muumdey

2. @MuGup

3. BLeUgSMmEseT

4. GuCr® @muurdey

A) 2-3-4-1 . (B) 1-3-4-2
(C) 1-2-3-4 (D) 3-2-4-1
46.  Short debit of an account can be rectified by of the same account
A)  Further debit ~ (B) Credit
(C) No adjustment _ (D) None of the choice
QR EETHEEE G LUDD AESETEDS Qeweuger ppeld &l(HSHaid
A)  Sew(id ubpmy | (B) aurey '
(O)  sflslLé Cgamauuidene ) (D) @eunmlev ergia|d @erena

47.  If a cheque issued by us was dishonoured the credit is given to

ANA) Supplier's Alc (B)

Customer’s A/lc

(C) Bank Alc (D) Cash Ale

BD auprdlu srGamame Seundasiiul Lo eure| Qeliwiu@n saés

(A)  er686CanialE (B)

QUMY SENSWITETT &/

C)  aund s/s (D) Qyrés s/@

48.  Bank Reconciliation Statement is prepared by

(A) Bank (B) Creditor
\40) Customer of the Bank (D) Debtor
gl sflal (b ULy Lianes SwrhiueT
(A) - cumd (B) sLapCgmt
(C)  aumdllen cumgSenswimar (D) s_amaflser
13 008/DD/19
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49.
qA) Asset side of the Balance sheet

50.

51.

52.

Income earned but not received is shown in

(B) Liability side of the balance sheet

(C) Profit and Loss Account - Debit side
(D) None of the above

Blayeneu eugmLomenid @l LFwuiu@ b

A)  @muy Hlevas@hudea Qersg LsasSe
B)  @muy floa @ilube Qurpiy Lsssdea
C) @eruplLésamsder UDY UsssSe
D) Qeundlé ergiab @eama

If the debtor Rs.20,000, Bad debts 2% and Provision for doubtful debts 5%, what is
the balance of debtors
A4  Rs.18620 (B) Rs.17,000
(C) Rs.17,600 (D) Rs.17,640
sLamafl ¢5.20,000, eurprésien 2%euryr guss e @giasEH 5% eafle Sswerer sLerrafl
GTEUGIETEY :
A) em. 18,620 B) . 17,000
(€) e 17,600 D) em. 17,640
Interest on capital added to
(A) Income WVAB) Capital
(C) Expenses (D) Cash
Wpse WBgrar el @ CarssliL@b
(A)  euemwrab ' (B) @g,d)
(C) Qswey | (D) Qprésbd
A purchase of Machinery for Rs.50,000 has been entered in the purchase book is an

error of

(A) Error of omission : (B) Error of commission
(C) Compensating errors : \4])) Error of principle

. 50,000 wliyerer Quipdlyd eurtidluems Qsrarpsd Tligd LHbss
Yenip , :

A)  pGeny , (B) Qewfenyp

©) FRGsL Gy (D) & Genyp
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53.

54.

55.

56.

Gross profit transferred to
(A)  Profit and loss A/c debit side

QAB) Profit and loss A/c credit side

(C) Assets side of balance sheet

(D) Liabilities side of balance sheet

Qurss @arun wrHpluBeals)

A) Qaru sl sl@ uDn LEEESD

B)  QeoruplL &/@aurey usssHa

©)  @muy o @9 Qersg LsssSd
D)  @muy flee GHlLGe Qurrgjuu L& &GS

Withdrawals of cash from bank by the proprietor for office use should be credited to
(A) Drawings Alc (B) Proprietor Alc :

(C) CashAle wAD) Bank A/c

Sigleuaas Cewapsrs o fawwrearr akidluldiphg Qrmesn aHSss08Ts e @ausbs
Gouerig I SemTé,

A) eahuysls (B) o flepwwrert &/@ -

(C) Qyrss s/ : D) eawnd s/

Trial balance is Prepared to find out the .
(A)  Profit or Loss _ (B) Financial position

(C) (A) and (B) correct MD) Arithmetical accuracy of the accounts
@muumiey swrfliug ' . ‘

A) @erub Seweg BLL LD SiHlw B) H4 Hlevaeni il

©)  (A) wogw (B) & (D) saws@saien sfggamenwemu il

Transferring the title of the bill to another person is

(A)  Discounting of bills 48) Endorsement of bills
(C)  Dishonor of bills (D) Renewal of bills
wrhm&fger 2 flanoamu Ceum @maHSES LTHN] SMHeS)
(A)  semepLIg &'_@ (B) CuQ@epsisad & 6
©)  eauwdssd &6 D) usAsEh £
15 ' 008/DD/19
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57. Interest on drawings is deducted from

(A) Income \AB) Capital
(C) Expenses (D) Cash
ey Bgmenm el g &0l(mHa HL0&sLIL(HILD
(A)  eugpomETLDd (B) s
(©) Qewey : D) e

58. Nominal Account is classified under

(A) Personal Alc !48) Impersonal Alc
(C) Both (A) and (B) correct (D) Neither of the two
Quuwere| sanéE @)L bELMID Guﬁbasﬁurr@

(A) S ETETIT ny S ’ (B)  =yenemyns &/

(C) A wigw (B) @rewr@®im (D) @reawr@b Gaoeame

59. The computer is purchased for Rs.SO0,000 fixation charges is Rs.20,000 and provide
depreciation is 10%. What is the depreciation amount?

(A)  Rs.30,000 WwAB) Rs.32,000

(C) Rs.40,000 (D) Rs.42,000 _

sanflefl cumadlw elenaw ¢5.300,000 @ieng Flmejeusnarear Gsway ;,20,000 wHmb Gguiwmer
aiglb 10% erafled Csiomer &l ereueueTey

(A) . 30,000 | B) em. 32,000

(€C) . 40,000 D) . 42,000

60. Amount spent in order to produce and sell the goods and services is called

ﬂA) Expenses (B) Income
(C) Revenue (D) All of the above
QurpLsamar 2 HuSE Galw siwwg L bsd, uamiulmen allpumen dealub Blowss
Qaran(Heur G CsTens '
(A) Qeseeyser : (B)  eu@meumi
©) <smwub D) <imanggb &l
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DEPARTMENTAL EXAMINATIONS
LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
BOOK KEEPING

(Without Books)

Méximum Time : 1 hour | Maximum Marks : 40

IMPORTANT INSTRUCTIONS

| DESCRIPTIVE TYPE
eflfleurer elenL_wiefl&@ib cuens elearrégmer

Read the folloWing instructions carefully before beginning to answer the questions.
ailamés@néE eflenLwallss QgmLmi@h wety Spasar . oifle|mrsmar SauaTons Ui &sa,|ib.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

eilenL_senar GHILAL Herer eramanilsamas@ ifawrs earwpdullplern, el ssrelldr @ndule o drear
3idle eramenilsasuderarn eflent_sar wHUSH CenwiiuLrg.

2. In case of doubt, English version is the final.

ailenmgsaties s6GHs LG prdle augella Qar@ssiiu Herer elamésGear @mdlwrens.
Answer any EIGHT of the following questions.

eranalGuignild er_(H eflanmEs(endE eflenLwerf.
(8 x 5=40)

s What are the golden rules of Accounting?
samadlwailar Qurenanren el aamer cilars@s.
2. Write short notes on
(a) Capital
(b) Drawings
(c) Debit note
(d) Credit note

[Turn over



GO0y cueys ‘ o
(=) s '
(=) eruy
(@) vbp EHoy
()  eupey @iy
3. What is Current Assets?
Breng Qersg)&eeT erammmed crevme?

4. What are the difference between profit and loss account and Income and expenditure
account? ;

@eoru UL seursdlHE D QFwe WG euporer samésHELD e-arer GCeugiur® wrg?
. What is triple colu.mn cash book?
wpuusd Crrés er(H erempmed ernan?
6. What is Bank Reconciliation Statément?
@irkid) sflal_ (HLb UL g W6 eremmmed eramen?
T .Classify the 'following items into real, personal, and norﬁinal accounts
(a) Capital
(b) Purchase
(¢) Goodwill
(d) Latha
(¢) Dividend
® Outstandiﬁg Rent
(g) Copy right
(h) State Bank of India

(i) Electricity charges

- 008/DD/19 -' 8



Gerreu(mLd @enmisanet C&T&g), L aremt wHmb Cuwrereals S;Gmés@aamrras umsUH 555
) s '

<2,) Carerpse

@) poHGuw

) QT

oar) Clam(HuL Geuaig i eUTLens
er) wdiyfleno

(=i

(

(

(

(20) umBRSTSWID
(

(er)

(er) evGLL urmg <t @bslwr
(

o)  WensLlLeanrid

Prepare Trial Balance as on 31.12.2002 from the following of Mrs. Chitra.

4 ¢

- Capital 2,49,000 Drawings 24,000
General expenses 97,000 Building 78,000
Machinery 1,18,680 Stock 1,32,400
Wages 14,400 Insurance 2,610
Bad debts 1,100 Creditors 5,000
Sales - 3,30,720 Loan(cr) | 75,000
Commission 5,500 Purchases 2,10,800
Bills payable 7,700 Reserve fund 15,000
Bank overdraft 28,600 Cash in hand 25,320
Discount 1,210

Smwdl. Hsrr seursaflen or@aaiemHg Gr®a;.5u|_:|_|_ @@uqa;smma; Qareanr(® 31.12.2002b mrenerw
@ muumiey g,u.urrﬂa;as

Qgrends Cgrens
, @ | ®
Ws® " 2,49,000 eruiyser 24,000
Curgteaeyser 97,000 s ibd ' 78,000
Guipglrd 1,18,680 syadlmiiy 1,32,400
) 14,400 sruS@ 2,610
T 008/DD/19
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CsTans Csrens .
B . )
QU TH&L_GIT 1,100 aa_l_Gﬁ%Gg,rrr'r 5,000
efllmuen e 3,30,720 gL e (eurey) 75,000
sla] 5,500 Qararpsed 2,10,800
Glaa)ssmn @M .
orHmiE EL6 7,700 sriyfs 15,000
eumidl Guodeueny
R 281600 S sais Grnaa 25,320
SET(@HLIg 1,210
9. From the following particulars prepére Balance Sheet of Mr. Venugopal as on 31st
December 2003
Rs. Rs.
Capital 40,000 Drawings 4,400
Del;tors 6,400 Creditors 4,200
Cash in hand 360 Cash at bank 7,200
Furniture 3,700 Plant 10,000
Net Profit 1,660 General Reserve 1,000
Closing Stock 14,800

Epsranid efleurhisamars Gaream®, .
Brenem @ mUybleanas@hiy swrfléseyn.

CeugmiGarurey eursefleanr 2003 gebur 31-b

® W)
(PS5 40,000 er@liyser 4,400
SLanraflEeT _ 6,400 sL_afECami 4,200
asulmiiLy Qrrést 360 curmid) @muy Qrrésb 7,200
P 3,700 Quir) 10,000
Blar @eruib 1,660 Qurgismiiy -1,000'
@ms sradmiiy 14,800

10.  What are the Distinction between journal and ledger?

GOUCUL D@, CuGH Iy HEWb 2 arar GGLIQJ-LJH'@ wirg)?
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